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1. With the help of a suitable diagram, derive the expression for the instantaneous voltage and 

current on a two wire transmission line. 

[10] CO1 

 

L2 

 

2. 
A transmission line has the following primary constants per km of the line: R=8Ω/m, 

G=0.1µƱ/m, L=3.5mH/m, C=9nF/m. Calculate Zo, α, β, vp and γ at 𝜔=5000 rad/sec. [10] CO1 L2 

3. Define and derive an expression for reflection coefficient and standing wave ratio when the 

transmission line is terminated by load impedance (Zl). [10] CO1 L3 

4. A load impedance of Zl=60-j80  Ω is required to be matched to a 50  Ω coaxial line, by 

using short circuited stub of length `l’ located at a distance `d’ from the load. The 

wavelength of operation is 1m. Design the single stub impedance matching system using 

Smith Chart. 

[10] CO1 L3 

5. Give detailed construction of the Smith chart with suitable diagrams. [10] CO1 L2,L3 

6. 

The characteristic impedance of a uniform transmission line is 2040Ω at a frequency of 

800Hz. At this frequency the propagation constant was found to be 0.054 ∠87.90. 

Determine the values of the line constants R, L, G and C. 
 

[10] CO1 L3 
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